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000000000 hom(l,exp(A4, B)) % hom(A, B) 00 f + eval o pair(fol,I) D000 0O
0000 A—BOOOOOOODOOOOODOO0O0O 1—exp(4,B)0000000000000
000000001 —exp(A,B)000000000000000O
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FV(x) = {x}
FV(af) FV(a) UFV(3)
FV(Az.a) = FV(a)\z

2.2 Type

TypeOOOOODDOOOODOOOANDOOOODODOOODODODO

Type(x) e
Type(af) = B (where Type(a) = exp(A4, B) and Type(8) = A)
Type(Az.) = exp(Type(z), Type(a))

2.3 Types

TypesUODOOOOOODOOOOODOOO

Types(S) = [] Type(v)
veS
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A D aD00 Types(FV(a)) — Type(e) 00000000000 000000000000
000000000000 00000000000000000Types(FV(a)) = Types() = 1
00000000 [a]:1— Type(e) DO OO

3.1 Oogond

3.2 3000

(] = eval o pair([a] o o, [8] o IL,)

good
{ I1, : Types(FV(af)) — Types(FV(«))
I : Types(FV(af)) — Types(FV(0))

O projection 00O OO00O0OD0OOOOOOODOOO

3.3 Az.aO0OO

[Az.a] = curry([o] o IT)

gooad
IT: Types(FV(A\z.a)) x Type(z) — Types(FV(«a))

O projection 00O OO00O0O0D0OOOOOOODOOO
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4.1 1000000

Il = [Mx.z]

curry([z] o m2)

= curry(l o)

= curry(ms)



4.2 KOOOOOO

K] = [Mx.)\y.z]
= curry([A\y.x] o ma)

curry(curry([z] o m1) o ma)

(
curry(curry(I o 1) o ma)
(

= curry(curry(my) o o)

4.3 SOOOOOO

[S] = [PzAyAzaz(yz)]

= curry([M\y.Az.zxz(yz)] o ma)

= curry(curry([Az.zz(yz)] o I) o m3)

= curry(curry(curry([zz(yz)] o I) o I) o ma)
[22(yz)])) o ma)

(
(
= curry(curry(curry
(
(

( (
( (

= curry(curry(curry(eval o pair([zz] o pair(m o 71, m2), [y2] o pair(mg o T, m2)))) o m2)
( (

= curry(curry(curry(eval o pair([zz] o prod(my, I), [yz] o prod(ms, I)))) o m2)

[xz] = evalo pair([z] o7y, [2] 0 72)

= evalopair(l om, I oms)

= eval o pair(m, m2)

= eval
000 [yz] =eval
goooono
[S] = curry(curry(curry(eval o pair(eval o prod(my, I), eval o prod(me, I)))) o m3)
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cpl> let I’ = curry(pi2)

I’ : *a -> exp(*b,*b) defined

cpl> let K’ = curry(curry(pil).pi2)

K’ : xc —-> exp(*a,exp(*b,*a)) defined

eval.prod(pi2,I)))).pi2)

cpl>

N

cpl> let S’ = curry(curry(curry(eval.pair(eval.prod(pil,I),\\

S’ : *d -> exp(exp(*c,exp(*a,*b)),exp(exp(*c,*a),exp(xc,*b)))

defined

/

ldomain 000000000 D0O0 10000000000000000000000000 generic0000000

O00oobooo0ooOoboOoOooOooo!DooooboO0ooboboOOoo



51 SKK=1

AO0O0O00 SKK=1000OOoooooooooood
CPLODO cury 0000000000 OOOOSKK=I0OOOOOOOOOODOODOOO
o000 SKKOIODODOOOoooooo

4 N
cpl> simp eval.pair(I’, 0)

0

: 1 -> nat
cpl> simp eval.pair(eval.pair(eval.pair(S’, K’), K’), 0)
0

: 1 -> nat
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